Decay mode

Updated branching fraction

Previous result

B? — JKS (2.06 £ 0.08 £ 0.06 + 0.07 £ 0.08) x 107> (1.93 £ 0.08 + 0.05 £ 0.11 + 0.07) x 107> [60]

B = JpK{K*nT (5.01 £0.35 4 0.33 £ 0.16 + 0.44) (46+£0.3+£0.3+0.34+0.4) x 107* [61]
B? — ¢(28)K*° (3.62 4+ 0.37£0.26 £ 0.12 £ 0.25) x 107°  (3.35£0.34 + 0.24 £ 0.19 +£ 0.22) x 107>  [62]

BY — ¢(2S)Ktm~ (3434£0.23+£0.14+0.11£0.24) x 107°  (3.12£0.21 £ 0.13 £0.18 £ 0.22) x 107>  [62]

B? — i (4.04 £0.3570%2 £0.13£0.28) x 107*  (3.79+£0.317099 £0.28 £ 0.56) x 10*  [63]
BY — Jhpn (3.67+0.3270 18 £0.124+0.25) x 107*  (3.42+0.307532 +£0.26+0.51) x 104 [63]
BY = ¢(28)¢ (4.98 £0.26 £ 0.24 £0.24) x 1074 (5.33+0.28 +0.267137) x 10~* 12] *
B? — X6 (1.92 £ 0.18 £ 0.14 £ 0.09) x 10~° (1.98 £ 0.19 £ 0.15 £ 0.20) x 10~° [64] *
BY— Jpprta— (2.01 4 0.05 £ 0.05 £ 0.10) x 10~* (2.16 £ 0.05 £ 0.0619-53) x 1074 11]
BY = J/boe (1.17 £0.127395 £ 0.06) x 107° (1.19 £ 0.127095 £ 0.10) x 107° [15] *
BY — JK*0 (4.124£0.19 4 0.13 £ 0.20) x 107 (4.20 £0.20 £ 0.13 4+ 0.36) x 10~ [65]
B — JAppp (3.54£0.19 £ 0.24 £ 0.16) x 1076 (3.58 £ 0.19 + 0.24 4 0.30) x 10~¢ [66] *
B® — Jfppp (3.94 4 0.35 +0.26 + 0.13) x 1077 (4.51 4 0.40 £+ 0.30 £ 0.32) x 1077 [66] *
BY — 4(28)n (3.35 4 0.57 + 0.48 + 0.50) x 10~* (3.15+0.53 £ 0.45%087) x 10~* 67 *
B? — (2S)/ (1.42 4 0.33 + 0.06 & 0.20) x 104 (1.32£0.31 £0.057035) x 107* [68] *
BY — Jpprta—atr  (7.4940.30 £0.44 £0.42) x 1072 (7.62 £ 0.36 £ 0.64 £ 0.42) x 107 69]
BY — (28)nt (6.87 4 0.81 + 0.65 4 0.39) x 10~° (7.34£0.940.6719) x 107° 67 *




